m MA.RI.NA SYSTEMS SRL
“ Via F. Baracca, 3 - 24034 Cisano Bergamasco (BG)

MA_RI.NM Tel. 035-787774 ra - Fax 035-787761

Original sSspare Parts

systems

e-mail info@marinasystems.it - Internet http://www.marinasys

FIXING SCREWS FOR PETROL ENGINES

DECK TYPE MACHINE ENGINE CODE DESCRIPTION QUANTITY
XTS CP030830 Screw TE/FR M8 X 30 2
STEEL PUSH CP030860 Screw TE M8 X 60 1
the others CP030830 Screw TE/FR M8 X 30 3
XTS CP030840 Screw TE/FR M8 X 40 2
CP047257 Threaded Brace M8 X 75 1
STEEL SELF-PROPELLED Honda 135 CP030840 Screw TE/FR M8 X 40 2
CP042257 Threaded Brace M8 X 50 1
the others CP030840 Screw TE/FR M8 X 40 3
XTS CP030850 Screw TE/FR M8 X 50 2
ALUMINIUM 50/56 CP030880 Screw TE M8 X 80 1
the others CP030855 Screw TE/FR M8 X 55 3
XTS CP030880 Screw TE M8 X 80 2
ALUMINIUM 45 CP030909 Screw TE M8 X 110 1
the others CP030880 Screw TE M8 X 80 3




	Viti fissaggio motore

